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METHOD #1: Using a list of
data points:

1. Put datain L1 and L2 of
your calculator

2. STAT > CALC >
8. LinReg(a+bx)

METHOD #2: Using

calculated values for mean,

standard deviation, and r.
1. Use the equations on the
equation sheet to calculate
a and b.

2. Place a and b values into

METHOD #3: Using a MiniTab
Output:

1. Identify a and b. The value
of a can be found in the
Constant row, Coef column.
The value of b can be found
in the Variable row, Coef
column.

3. Place a and b values into
your equafion and be sure
to write your equation with
Y-HAT and IN CONTEXT.

your equation and be sure
to write your equation with
Y-HAT and IN CONTEXT.

2. Place a and b valuesinto
your equation and be sure
to write your equation with
Y-HAT and IN CONTEXT.

METHOD #1 EXAMPLE: Create the LSRL for predicting number of bags of dog food used per
month based on the number of dogs a person owns. Use the data table below.

Bags of dog food
used/month
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METHOD #2 EXAMFLE: Cregle 1be/LSRL for predicting number of bags of dog food used per
month based on the numper o[f dogs a person owns. Use the values below.
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/METHOD #3 EXAMPLE: Create the LSRL for predicting number of bags of dog food used per

/ month based on the number of dogs a person owns. Use the MiniTab Oufput below.
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Other important things:
Calculating & Inferpreting Residuals:
residual = observed value — predicted value

EXAMPLE: Calculate and interpret the residual value for a person who owns 7 dogs.
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EXAMPLE: Would it make sense to use our model to predict the number of bags of dog food

needed for a person who has 49 dogse Why or why not?
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Interpreting slope and y-intercept:
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